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18 18 10 1.8

AF
—RRAE () BAH 51 49 38 1.3
wETH #ETw T A—TSRAR 8 1 4 1.8
s —EHBRFAAR (PE) 2HRLE 9 9 i 1.3
AF 11 11 7 1.6
—RRAE () BA= 24 22 18 1.2
AXFE AXFH T A—TSRAR 8 8 8 1.0
s —EHBRFAAR (PE) 2HRLE 8 8 6 1.3
AF 10 10 6 1.7
—RRAE () BAH 34 33 24 1.4
AT RS T A—TSRAR 9 9 8 1.1
s —EHBRFAAR (PE) 2HRLE 12 12 7 1.7
AF 20 20 5 4.0
BESE LE$H —RRAE () BA= 31 30 8 3.8
(FEBE-REFTH) T A—TSRAR 4 4 3 1.3
s —EHBRFAAR (PE) 2HRLE 8 8 4 2.0
AF 9 8 4 2.0
HEPE HEEE —HR AR (P ) BA 16 15 1 2.1
(ERBAMFL) T A—TSRAR 6 5 3 1.7
s —EHBRFAAR (PE) 2HRLE i i 5 1.4
AF 32 30 11 2.7
AR—V P 5T —RRAE () BAH 63 60 23 2.6
AR—vREE T A—TSRAR 15 15 8 1.9
s —EHBRFAAR (PE) 2HRLE 10 10 6 1.7
AF 15 14 3 4.7
BEEESR —RRAE () BAH 33 33 11 3.0
FHEREFH T A—TSRAR 1 1 4 1.8
s —EHBRFAAR (PE) 2HRLE 7 7 2 3.5




